{J RRB GROUP D 2022

MATHS

MOST EXPECTED
PAPERS

PAPER - 8

o :
LIVEYX] 06:30 PM /




/@ Mdmdf// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

The average age of the mother and her six children is 12 years which is reduced
by 5 years if the age of the mother is excluded. How old is the mother?

1T 3R 37 38 91 DI 9d 341G 12 99 § ol fob A1ar o1 31g I SIS fegr < i 5
ay & Bl Sl o | Bl DI 31 fba-i 872

a)
b) |
C)z
d) ;
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What sum will yield Rs. 540 as Simple Interest at 4% for 7.5 years?

a8 YIS 1 © ToraT 4% Uid a8 @1 g3 9 7.5 a9 H IIUR0T &7of 540 3. BM?

a)
b)
C)
d)

S

S

S

S

. 1600

. 1200

. 1800

. 1400
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Pipe A can fill a tank in 15 minutes and the tap at bottom of a tank can drain water at
a rate of 4 liters per minute. If both the pipe and tap are opened together then they
can fill the tank in 20 minutes. Find the capacity of the tank.

U5 ATH St Dl 15 e & 4R Favdl § 3R <ol & I U 7 4 dilex vl fire @)
X U UMl HhTd Odhdl o1 Oid 9rsy 3R Ad giH1 @l U 91y Jidl oiidl §, di d ol &l
20 fiFe § \R IFHd 1 T1 Dt &Hal I1d HIfog|

a) iodiR
b) rodhe=
C) 30 THex

d) 30 diiex
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In an exam, there are 250 questions, A student got 2 marks for every correct answer
and a deduction of 0.5 marks for every wrong answer. If he gets total 300 marks then,
find the number of wrong answers.

TS W H 250 94 5Id €, TP B &I G Jel SR & (a7 2 3 YT §1d & 3R TS
Tefd 3R & Q1T 0.5 3ih Pl P U oild §1 afe I8 $d 300 3ie field €, @l 7Teid Ioii

| TReHT JTd Doy

a) >
b) >
c) >

d) >
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Length of curved part of a semi-circular field is 24 m more than its linear part. Find the
area of the semi-circular field?

% HU-gaPR HaH & YHAER HFT &I dialy s gD N ] didlg 9 24 Hiex
3Hfeep 81 dl 3fel-guIPR T Pl &5 1d DI

a) 0w
b) 27
C) 38 Hiex?

d) )3 T2
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How much will a sum of Rs 2500, invested at compound interest, amount to in 1 year
at 4% interest rate, interest compounded half-yearly?

2500 39 BI AR DT 1 T T 4% o701 & R (HYH F1 81T, 5d a2 I ig o |
o501 11l &, ST Afefaities =0 ¥ Tgiford gidl 672

a) s 260
b) s. 2606
C) s. 2610

d) 5. 2600
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The sum of two humbers is 60 whereas HCF and LCM of the numbers are 12 and 72
respectively. Find the sum of reciprocal of these numbers.

31 G131 1 TRT 60 § Slald T3l &1 Heod JHUddd SR dgad JHUddd Ha:
12 3R 72 B | 51 TA131 & b 1 T 1l Bifoiy |

a) >
b)
c) s

d) s
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The speed of two trains A and B is in the ratio of 3 : 5. Train A leaves for point Q from
point P and after 2 hours train B leaves from point Q for point P. If PQ = 460 km and
both the trains meet after 5 hours after B starts then find the speed of train A.

A CAIARBDITA3: 5% U T g1 ¢ Afdg P ¥ faig Q & o el § iR
wmzud‘?ﬁalqma|agmﬁﬁgp$|m{gmd|%’luﬁm 460 fpHi g IR B &
G- @ 5 b d14 il o [l 8 , dl o1 A DI T 1d DI

a) 0 km/hr
b) 5kmr
C) 5 km/hr

d) 0 km/hr
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A rectangular plot is 122 m long and 88 m wide. It has a path 2 m wide all around it on
the outside. Find the cost of constructing it at Rs 2 per square meter.

% MOAIPR Wie 122 Hie daT 3R 88 e =IST §1 59P §lex TRl R® ¥ TS 2 HieR
IISTUY gl 2 % uid a1l Hiex & fede ¥ 39! (Al &t ard g

a) 117
b) 712
C) 12

d) 56
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A bag contains 20 P, 25 P, and 50 P coins in the ratio 7 : 6 : §, amounting to Rs. 297.
Find the humber coins of 25 P?

TS AT 7:6:5P UG H 20, 25U 3R 50 U o [dd T 5, fora! A 297 B
25U & (&b &1 I J1d Diford?

a) 0
b) 0
C) i0

d)
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A is the smallest three-digit number which when divided by 3, 4 and 5 leaves
remainders 1, 2 and 3 respectively. What is the sum of the digits of A?

A TEY BicT I i I § for ofd o 3, 4 3R 5 9 fquifod &1 . Ha9- 1. 2
3R 3 B U BT 21 A S SiB BT AN 1 27

a)
b)
c)
d)
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A sum of money when invested at compound interest for 3 years becomes 4 times of
itself. In how many years, the same sum will be 16 times of itself?

3 I @ [o1U Thq i sTel UR fdpl MR T a2 fohU S 4R 98 391 4 1 81 Sl g |
foa auf 4, ggl MR U= 16 TH1 7 ST 2

a)
b)
c}
d)
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Travelling at a speed of 54 km/h, Chaman reaches a place 3 minutes early. If he had
travelled at a speed of 48 km/h, he would have been 1 minute late. What is the
distance Chaman had to travel?

54 feHirdel @I TTfd ¥ =ed §U, 99 TP M W 3 e ugd ggad] g1 afe a8 48 faddl/
Hel I 71 U Fedl 8, 79 dg 1 8 43 I ugadl ¢ | 95 gR1 99 DI T8 11 1 872

a) ssfed
b) 15
C) sofed

d) 8.8 foorl
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In a school 25 members in staff. They can make question papers in 28 hours. But due
to some work after every 10 hours, 5 members left the work. Then in how much time
work will be completed?

Ueh Tl 1 WP U 25 o § 1 d 28 U T YUY U &1 Ibd & | Wi 82 10 U & dIg
fopdl BT DI auig U 5 Y5l 3 B Bis f&a1| R food- a9 d P g1 ghm?

a) y hours
b) y hours
C) ) hours

d) ) hours
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A Shop keeper sells ice cream at a profit of 10%. If he had bought at 5% less and

sold at Rs. 8 more, he would have gained 20%. What is the cost price of the
icecream?

U gPHER U JSHHIH Bl 10% &A1Y W a9dl 5| Iie 98 54 5% HH UR WG PR
8 TUY HUP R &, dl 3 20% D1 AT BIdl 61 HGHDH DI B4 eI [ 57

a) oz
b) oz
C) )0 T

d) 0 U
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A steel vessel has a base of length 60 cm and breadth 30 cm. water is
poured in the vessel. A cubical box having the edge of 30 cm is immersed

completely in the vessel. By how much will the water rise ?
X1 & §c oI TaTg 60 YHI AR IISTs 30 YA Bkl ¢ | §d9 T g1 Sra

SITal 81 30 Gl & fH-TR 9161 Ush 9+ R §ldd G die I a1 H Sa1 g3 8|
qrT faeder 9

a) 2cm
b) 5cm
c) Ocm

d) cm
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After allowing a discount of 12.5% shopkeeper makes a profit of 25% on a bag.
At what percent higher than the cost price did he mark the bag? (correct to
nearest integer)

U §X UR 12.5% DI F€ & D §1a Udb ghIHaR 25% i SN gl 39 §& Bl
3ifhd e, T G Y fdba- Uia=Id e [eiiRa fdbar mr 41? (Mdbead gulie
a® Jel)

41%

43%

38%

35%
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The population of a village is 4800. If the male population is increased by 8% and the
female population is decreased by 5%, then it will become 5028 after 1 year. Find the
male populations at present?

Ueh Tiid &1 ST 4800 T | Afe JoN S-EE H 8% P dic 5 © 3R Higal s-ye o
5% I BHI 5 &, A1 I8 1 T4 P &1 5028 Bl SET | T H G S Td Pifor?

a) 388
b) 300
c) 200

d) se0




